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2 | Il 21 | 33.52] 7.70 | 5.20 | 2.50 | 2.1 |#HHH++ *4.0 | 60.78
3 18 | 26.67] 7.53 | 4.57 | 2.96 | 1.5 |HtiHH+r++ 23.7 | 60.50)
4 | | 19 [ 38.57] 7.20 | 5.00 | 2.20 2.3 |#HHH+ 23.9 | 60.59
5 = ] | 15 | 30.00] 7.10 | 4.19 | 2.19 2.2 |HrH+ 23.9 | 60.40
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3 | | 22 | 35.30] 7.73 | 4.69 | 3.04 | 1.5 |#HH+H+ 23.6 | 60.70
9 | | 21 1 20.00| 7.67 | 5.07 | 2.60 | 1.9 |[tHHHH+T 21.1 | 60.80
10 | {19 | 33.33| 7.00 | 4.52 | 2.48 | 1.8 [HHHT+ L 24.2 | 60.70,
11 | | [ 24 | 37.50] 7.98 | 5.13 | 2.80 | 1.8 |#HH+++————| 24.0 | 60.40)
12 | Il | | 22| 23.53] 7.95 | 5.41 | 2.54 | 2.1 |#hH++————— | 24.0 | 60.44)



%63 SR = HE G AE = B 2R 0 MY BALER YRR = B 7 363
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14 | 1l [ 25 ] 25.001 7.05 [ 5.03 | 2.02 | 2.4 |H#Htt++————— 23.8 | 60.50
15 | 1l | 17 1 25.34| 7.53 | 4.57 | 2.96 | 1.5 [##H+HH++————1 23.7 | 60.50
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L= @IELF BRHGET—R

53| 54 | MR | s i A oM FEOE | nEH nER
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7 | N | [ 19 | 31.80| 5.78 | 3.64 | 2.14 | 1.7 [#HH++———- —| 23.8 | 60.70
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14 | I | | 24 | 32.80] 7.13 | 4.50 | 2.63 1.7 |+ +————— | 24.0 | 60.50
15 | I | [ 21 ] 34.00] 7.15 | 4.53 | 2.62 | 1.9 [#HH++————] 23.9 | 60.50
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=K+ Y,

3) Il“[li?ﬁr71'/7'" >
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F BT Bk 242 M m/AN23. TR =25 0.5
WIEIFA KT/ BK24.28, B/23.6

W=270.6F/&7ReV, EIF BhILH /
THIEGEE ey > 2. BB ).

7) MUHEERN FEE BLHEY. fH=
0.1gtt /&7 07 T M 7 BF 7K 160.30
gtt, F/ 60.80gtt = > 5 0.5gtt /1 EFF 2,
F 7 FE K 60.70 gtt, %/ 60.20gtt — 3 7
0.5gtt /%R v, B/ BHERE » BhR 2 4
EroRVEYFLE Y,
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BEEIL) A= 3 W REREB
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?Et ,\, o (7 7 3 = ]
2 B (m_gr)(e%) (A) (%) ey 1128466789100 GE
732|709 8 fRRi. ER = v
1 |JEsfe “o |TLEASK, X1%, VSHEmiEE| 34.74(5.91/4.01/1.90] 2.1 |#hHH+————— 23.8| 61.5
V2 [BEAES, RRVEEEW
19 oy A2 ) EERRE, &
2 SRR 75 BHRIRR, X, KEEERE| 34.75(6.14|3.81(2.33| 1.6 [tHiH++++————[23.9] 61.8
| Mo EHIB 2 VBB v
;14 A#Hnu%ﬂfﬁ TVASHEAT 4T
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y =R, ’flEfEEIE“WaEM Wt
I ey S e
22\, #1pHE[T o 5 71l _
1 WEBRAS2 [E, X 1o B igab sy 7 | 21-97(8-89]5.71(3.18| 1.8 |MHkiHH++ 24.3( 60.3
WA X, AR%HEN
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.- 21 3 LT8R, & G R I,
6 R B X1&§, A EW > v v #E| 24.00(6.42(4.38(2.04 2.2 |#HHH++—--——[23.9] 60.4
MR 2| EDE«%%’%?!%
i 4’ o = —_——|o= o
7 "fiﬁ;f 'W*’%l"lﬂgmﬁ P%zﬁ;. Ei 42.86{12.34/4.3418.00| 0.5 |44 HHH+++ 25.2/ 60.6
/ N |%
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